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PiecewiseFunction Answers for No.9594

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | -8 | NA | 3 2 1 0 | -1 | -2 | -3 | -4 | 5 -6 | -7 | -8 |
Ans02 : f(x)| 2 | 2 | 2 2 | 2 2 | 2 2 | 2 | NA | 1| NA | 1| 3 | 5 | 7 9 | 1 31 15 | 17 |
Ans03
2x+3 ; x<1
f(x){
x+2 ;ox> 1
f(-3)=9, ,f(-1)=5, ,f(0)=3, ,f(1)=N4, ,f(3)=5
Ans04
3 ; x<=-3
fix)={-2x-3 ; -3 <x<=2
x+3 N x> 2
f(-4)=3, ,f(-3)=3, ,f(-)=-1, ,f(2)=-7, ,f(4)=7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -4 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.9608

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 12 | 11 | 10 | 9 | 8 | 71 6 | 5 4 | 3 2 1 7 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
AnsO2 : f(x)| -14 | -13 | -12 | =11 | =10 | -9 | -8 | -7 | -6 | 6 | 4 | 2 | NA | 0| 01 0 | 01 0 | 0 | 0 | 0 |
Ans03
x+3 ;ox<=2
f(x):[ }
2x+1 ; x> 2
f(-1)=2, ,f(0)=3, ,f(2)=5,f(3)=-5 ,f(4)=-7
Ans04
2x-3 x< -1
fix)=| x+3 ,; -I<=x<=3
6 N x> 3
f(-3)=3, ,f(-2)=1, ,f(-1)=2, ,f(1)=4, ,f(3)=6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
2 4 | 2 4 | DNE | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXXKXXKXKXKXKXXKXKXKXKXKXKXKXKXKXKXKXKXKKXKXK KKK XK X KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERHNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0:0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L W LT ORI Je [0 Jc) 04
PiecewiseFunction Answers for No.9646

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | -8 | 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 | -9 | =10 | =11 | -12 |
Ans02 : f(x)| 4 | 4 | 4 | 4 | 4 | 4 | 4 | 4 | 4 | NA | 3 2 | 1| NA | 9 | 1 3 15| 17 | 19 | 21 |
Ans03
2x+1 ; x<2
f(x){
x—2 ;ox> 2
f(-4)=9, ,f(-1)=3, ,f(1)=-1, ,f(2)=N4, ,f(3)=1
Ans04
2x-2 x< -2
f(x)= 2 ; -2<=x<3
x+2 N x> 3
f(-2)=2, ,f(-1)=2, ,f(1)=2, ,f(2)=2, ,f(3)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
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PiecewiseFunction Answers for No.9649

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | -1 | 0 | 1| 2 | 3 4 | 5 | 6 |
AnsO2 : £f(x)| -9 -8 -7| -6 -5 -4 -3 | NA| -2| -2| -2 -2 -2 NA | -10 | -12 | -14 | -16 | -18 | =20 | -22 |
Ans03
x—1 sox< -2
f(x):[ }
2x+1 ; x>=-2
f('4):'5’ 7f('3):'4’ ,f(-2)25, ’f('l):3’ 7f(0):1
Ans04
2x-1 x< -3
flx)=| x-1 , 3<=x<=1
0 N x> 1
f('3):'4’ 7f('2):'3’ 7f('1):'2’ 7f(1):0’ af(4):0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-5 | undefined | 1] 1| 1 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
5 2 2 | 2 2 | Continuous
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PiecewiseFunction Answers for No.9669

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | | 2] 3 4 | 5 | 6 | 7 8 | 9 | 10
Ans01 : f(x)| 12 | 11 | 10 | 9 | 8 | 71 6 | 5 4 | -5 | -3 | -1 | 11 3 5 | 71 9 | 11 | 13 | 15 | 17
Ans02 : f(x)| -17 | =15 | -13 | =11 | -9 | -7 | =51 =3 | 5 | 4 | 3 | NA | 2 2 | 2 2| 2 | 2| 2 | 2 | 2 |
Ans03
x+1 sox< -2
f(x):[ ]
2x-1 ,; x>=-2
f(-4)=-3, ,f(3)=-2, ,f(-2)=3, ,f(1)=-3, ,f(2)=-5
Ans04
—1-x x < -1
fix)={ 3 ;-1 <x< 2
2x-1 x> 2
f(-2):1, ’f('l):NA’ 7f(0):3’ 7f(1):3’ af(z):NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
=7 | 2 2 | 2] 2 | Continuous
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9717

x| -10 | -9 -8 =7 -6 ] -5 1 -4 -3 -2 | -1 0 | 1 2] 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 f(x) | 16 | 14 | 12 | 10 8 | 6 | 4 2 0 | -2 | -4 | 3 4 | 5 6 | 71 8 | 9 | 10 | 11 | 12 |
Ans02 f(x)| -14 | -13 | -12 | -11 -10 | -9 | -8 =7 =71 =71 =71 =71 =71 =71 =12 | =14 | -16 | =18 | =20 | -22 | =24 |
Ans03
2x+3 ; x<=-2
)=
—x+2 ; x> -2
f(-2):-1, ’f('l):3’ 7f(0):2’ 7f(1):1’ 7f(3):'1
Ans04
x—2 N x<=-1
fix)={2x-1 ,; -1 <x<1
-3 N x>=1
f('4):'67 ,f(-2)2-4, ’f('l):'3a ’f(l):'3’ 7f(3):'3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-7 | 2 | 2 | 2 | 2 | Continuous
-6 | 2 2 2] 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
12 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.9763

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 | 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 | -9 | -10 | -11
Ans02 : f(x)| 15| 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 1| 3 | 5 | 7 7 7 7 7 7 7 7
Ans03
—1-x ; x<-I
f(x){
2x+2 ; x>=-1
f(-1)=0, ,f(0)=2, ,f(1)=4, ,f(2)=6, ,f(4)=10
Ans04
-1-x ; x<=-2
fix)={ 7 ; -2 <x<3
2x+1 x> 3
f(-4)=3, ,f(-3)=2, ,f(-2)=1, ,f(0)=7, ,f(3)=NA4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 2 4 | 2 | 4 | DNE | Discontinuous |
5 | 2 | 2 | 2 | 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.9877

| 4 | 5 | 6 | 7 8 | 9 | 10 |
| -9 | -10 | -11 | -12 | -13 | =14 | -15 |
| -1 -2 1 =31 -4 =51 -6 -7/
,1(2)=3
f(1)=-3

x| -10 | -9 -8 =7 -6 | -5 -4 =31 =21 -1/ 0 1 2 | 3
Ans01 : f(x)| -21 | -19 | -17 | -15 -13 | -11 | -9 | -2 | -3 | -4 | -5 6 | =7 | -8
Ans02 : f(x)| -21 | -19 | -17 | -15 -3 | =111 -9 -7 1 =5 0| 0 0| 0 | NA
Ans03
2x-3 ; x<2
f(X)=[
x+1 x>=2
f('4):5’ af('3):37 ’f('z):la af(o):'3a
Ans04
3 ; x< -2
fix)={2x-1 ; -2<=x<=1]
B+x x> 1
f(-4)=3, ,f(-2)=3, .f(-)=1, ,f(0)=-1,
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-4 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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PiecewiseFunction Answers for No.9911

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 | 25 |
Ans02 : f(x)| -15 | -13 | =11 | -9 | -7 1] -5 =3 | -1 1| 3| - -1 -} -2 -3 -4 -51 -6 =71 =81 -9
Ans03
2x-2 ; x<1
f(x){
x—1 x> 1
f(-4)=6, ,f(-3)=4, ,f(0)=-2, ,f(1)=N4, ,f(2)=1
Ans04
6 N x< -3
fix)=] 3—x , -3<=x<2
2x-3 x>=2
f('4):6a ’f('3):6’ 7f(1):2’ 7f(2):1’ af(4):5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
-10 | 1] 2 | 2] 2 | Discontinuous |
-7 | 2 2 | 2 | 2 | Continuous
-2 0 | 2 2 | 2 | Discontinuous |
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PiecewiseFunction Answers for No.10027

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | -5 | -6 | -7 | NA | 3| 5 7 9 | 11 | 13 | 15 |
Ans02 : f(x)| 25| 23| 21| 19| 17| 15| 13| NA | -3 | -3 | -3 1| =31 =21 -1/ 0 | 1 2 3 | 4 | 5 | 6 |
Ans03
x—1 ;ox<=1
f(x):[ }
2x-2 ; x>1
f(-4)=-5, ,f(-1)=-2, ,f(0)=-1, ,f(1)=0, ,f(4)=-10
Ans04
2x-3 x< -2
fix)=] 1-x , -2<=x<=3
-2 N x> 3
f(-2):3, ,f(-l):Z, ,f(O):l, ,f(2):-1, 7f(3):'2
a f(a) | LH-Limit | RH-Limit Limit Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-6 | 2 2 2] 2 | Continuous
5 | 2 2 | 2 | 2 | Continuous
11 | 1| 1] 1] 1 | Continuous
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PiecewiseFunction Answers for No.10063

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | -1 | 0 | 11 2 3| 4 | 5 | 6 | 7 8 | 9 | 10 | 11 |
Ans02 : f(x)| -10 | -10 | -10 | -10 | -10 | =10 | =10 | =10 | -8 | -6 | -4 | -2 | 01 2| 1] ol -1 -2 1 =31 =41 =51
Ans03
x=2 ; x<=-I
f(x):[ }
2x+2 ; x> -1
f('4):'6’ 7f('1):'3’ 7f(0):2’ af(z):'za ’f(3):'4
Ans04
x—2 : x< -1
f(x)= -3 ;-1 <x<=3
2x+3 x> 3
f(-2)=-4, ,f(-1)=N4, ,f(0)=-3, ,f(1)=-3, ,f(3)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -4 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
5 | 2 2 2] 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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DRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0:6:0.0 ¢ | [ YA L WL O N R oI Lo i 25794
PiecewiseFunction Answers for No.10120

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | NA | 5 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21
AnsO2 : f£f(x)| -7 | -6 1| -5 -4 1| -3 | -2 -1/ 0 | 1] -1 -3 -5 NA| =7 =7 =711 =71 =7/ =71 =71 =71
Ans03
3+x ; x<=2
f(x){
2x+2 ; x> 2
f('3):'6’ af(o):'37 ’f(l):'za af(z):'la ’f(3):'4
Ans04
2x-3 x< -3
fix)={ x+2 ; -3 <x<3
-1 N x>=3
f(-3)=N4, ,f(0)=2, ,f(1)=1, ,f(2)=0, ,f(3)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ (YA L W LT o N LI o ) ¢
PiecewiseFunction Answers for No.10367

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -3 | -2 | -1 | 0 | 1| 2 | 3 4 | 5 6 | 7 8 |
Ans02 : f(x)| -16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 | 0 | 1 1| 1| 1] NA | o} -1 -21 -3 -41 -51 -6
Ans03
-1-x ; x<=-2
f(x){
2x-1 ; x> -2
f(-3)=2, ,f(-2)=N4, ,f(-1)=-3, ,f(2)=3, ,f(4)=7
Ans04
-3 -x x< -3
fix)=]2x+1 ,; -3<=x<2
5 N x> 2
f-4)=1, ,f(-3)=-5 ,f(1)=3, ,f(2)=N4, ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
5 | 2 2 2] 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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DGRV ERHNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA W T O N LI O N /5794
PiecewiseFunction Answers for No.10372

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 5 | 4 | 3| 2 11 0 | -1 | -3 | -1 | 1 3| 5 7 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
Ans02 f(x)| 24 22 | 20 18 | 16 14 | 12 NA | 2 3 | 4 5 | NA 6 | 6 6 | 6 6 | 6 | 6 6 |
Ans03
3-x ; x<1
f(x){
2x-1 ; x> 1
f(-3)=0, ,f(-2)=-1, ,f(-1)=-2, ,f(1)=N4, ,f(3)=5
Ans04
2x-1 x< -3
fix)=| -7 ; 3<=x<1
-3-x x>=1
f(-4)=-9, ,f(-3)=-7, ,f(1)=-4, ,f(2)=-5 ,f(4)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-7 | 2 | 2 | 2 | 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXXXXXKXXKXKXXKXXKXKXKXXKXXXKXKXKXKXKXKKKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’$:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L W LT O N R I O N ) ¢
PiecewiseFunction Answers for No.10375

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 f(x) | 17 | 15 | 13 | 11 | 9 | 71 5 | 3 11 -1 | -3 | -5 | -7 -2 | -1 | 0 | 1] 2| 3 4 ] 5 |
Ans02 : f(x)| 7 7 7 7 7 7 7 7 6 | 5 | 4 ] 3| 2 4 | 6 | 8 | 10| 12 | 14 | 16 | 18
Ans03
2x+2 ; x<=-2
f(x):[ ]
x+3 ;x> -2
f(-3)=8, ,f(-2)=6, ,f(-1)=2, ,f(3)=6, ,f(4)=7
Ans04
3 ; x< -2
fix)={ 1-x ,; -2<x<3
2x—-1 x> 3
f(-2)=N4, ,f(1)=0, ,f(2)=-1, ,f(3)=N4, ,f(4)=7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous
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DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | [ YA WL O N R I O H ) ¢
PiecewiseFunction Answers for No.10426

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | 9 | 11 | 13 | 15 | 17 | 19 | 21
Ans02 : f(x)| 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 1 =3 -1 | 1| NA | 3 | 3 | 3 | 3 3 | 3 | 3 |
Ans03
2x-3 ; x<2
f(x>=[
-3 - ;o x>=2
f(-4)=-11, ,f(-3)=-9, .f(-2)=-7, ,f(2)=-5, ,f(3)=-6
Ans04
-9 K x< -3
f(x)=]2x-3 , -3<=x<=1
3-x x> 1
f('4):'97 ’f('3):'9a ’f('l):'sa ’f(l):'la 7f(4):'1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’$:0:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L W LT o N LI o i ¢
PiecewiseFunction Answers for No.10628

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -19 | -17 | -15 | =13 | -11 | -9 | =7 | -5 | -3 | NA | -2 | -3 | -4 | -5 | -6 | =7 1 -8 | -9 | =10 | =11 | -12 |
Ans02 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 21 -7 -6 =51 -4 -4 | -4 1| -4 -4 | -4 -4 | -4 1| -4 -4
Ans03
3-x ; x<=-]
f(x){
2x+3 ; x> -1
f('z):'la ’f('l):'za ,f(0)23, ,f(l)zs, ’f(2)27
Ans04
2x+2 x< -3
fix)=| -3-x , -3 <x<=3
-6 N x> 3
f(-3)=N4, ,f(-2)=-1, ,f(0)=-3, ,f(2)=-5 ,f(3)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L WL O N LI Lo <) ¢
PiecewiseFunction Answers for No.11408

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -14 | -13 | -12 | -11 | -10 | -9 | -8 | NA | -1 | -3 | -5 | =7 1 -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans02 : f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 1] 21 -5 =71 -9 | -11 | -13 | =15 | -17 | -19 | -21 |
Ans03
x—1 cox< -2
f(x):[ }
2x+3 ; x> -2
f(-4)=-5, ,f(-2)=N4, ,f(-1)=5, ,f(1)=1, ,f(4)=-5
Ans04
-8 K x< -3
fix)=]2x-2 , -3<=x<3
3—-x x>=3
f('3):'8’ 7f('1):'4’ af(o):'za ’f(3):07 ’f(4):'1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-4 | 2 | 2 | 2 | 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |
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DGRV ERRNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA WL O N LI O N ) ¢
PiecewiseFunction Answers for No.11560

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | 3 | 5 7 9 | 11 | 13 | 5 | 17 | 19 |
Ans02 : f(x)| 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 5 | 5 | 5 | NA | 8 | 10| 12 | 14 | 16 | 18 | 20 | 22 |
Ans03
x—2 sox< -1
f(x):[ }
2x-2 ; x>=-]
f('4):'67 ’f('3):'5a ,f(-2)2-4, ,f(-l):(), 7f(0):'2
Ans04
-6 K x< -2
flx)=]2x-2 , -2<=x<=2
-2-x x> 2
f(-3)=-6, ,f(-2)=-6, ,f(-1)=-4, ,f(2)=2, ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
=7 | 2 2 | 2 | 2 | Continuous
5 | 2 2 | 2 | 2 | Continuous
9 | 4| 1 1 1 | Discontinuous |
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DGRV ERRNCIVIVEND’0:9:0:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA W LT o N 010 J0 1240) ¢
PiecewiseFunction Answers for No.11806

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -11 | -10 | -9 | -8 | =7 | -6 | -5 | -4 | NA | 6 | 4 | 2 0 | -2 | -4 | -6 | -8 | =10 | -12 | -14 | -16
Ans02 : f(x)| 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | NA | 3 | 11 -11 =21 -1 01 1| 2 | 3| 4 | 5 6 |
Ans03
3—-x ,; x<2=-2
f(x):[ }
2x+3 ; x>=-2
f('3):6’ 7f('2):'1’ ,f(-l)zl, ,f(l)zs, ’f(2)27
Ans04
2-x x< -3
f(x)= 1 ;-3 <x<2
2x-1 x> 2
f(-4)=2, ,f(:3)=N4, ,f(-2)=1, ,f(2)=N4, ,f(4)=7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKKKK KKK KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.6:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA R WL ORI [ A D794
PiecewiseFunction Answers for No.12219

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 14 | 13 | 12 | 11 | 10 | 9 | 8 | -5 | -3 | -1 | 11 3 5 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21
Ans02 : f(x)| 24 | 22| 20| 18 | 16 | 14 | 12 | 10 | 8 | 1| 2 | 3| 4 ] 5 | 5 5 | 5 5 | 5 | 5 5 |
Ans03
2x-1 ; x<=2
f(x)=[
-1-x ; x>2
f(-3)=-7, ,f(-1)=-3, ,f(l)=1, ,f(2)=3, ,f(3)=-+4
Ans04
x+1 N x< -2
f(x)={-2x+2 ; -2<x<3
-4 ; x> 3
f('3):'2, ’f('z):NA’ af('l):47 ,f(l)IO, ’f(3):NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXKXXXKXKXKXKXXKXKXKXXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKXKX KX KKK KK KX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.6:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA L WL ORI Je 1275794
PiecewiseFunction Answers for No.12954

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 1 1] 2| 3 4 5 | 6 | | 8 | 9 | 10 |
Ans01 : f(x)| 6 | 5 4 | 3 2 1 0 | -9 | =7 | -5 | -3 | -1 | 1] 3 5 | 7 9 | 11 | 13 | 15 | 17 |
Ans02 : f(x)| -16 | -14 | -12 | =10 | -8 | -6 | -4 -2 | -3 | -4 -5 -6 /| =71 =71 =71 =71 =71 =71 =71 =71 =71]
Ans03
2x-3 ; x<=-2
f(x){
-1-x ; x> -2
f(-4)=-11, ,f(-2)=-7, ,f(0)=-1, ,f(2)=-3, ,f(3)=-4
Ans04
2x+2 x<=-3
f(x)=| x+3 ,; -3 <x<2
5 N x>=2
f(-4)=10, ,f(-3)=8, ,f(0)=3, ,f(2)=5  ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
2 4 | 2 4 | DNE | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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DGRV R NCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA W LT O N R 010 J0 13574
PiecewiseFunction Answers for No.12964

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1| 2 3 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 8 | 71 6 | 5 4 | 3 2 1 0 | -1 | -2 | -3 | -4 | 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
Ans02 : f(x)| -7 1 -7 =71 =7 =71 =71 =71 =71 =71 =51 =31 -1/ 1] NA | 1] ol -1 -2 1 =31 =41 =51
Ans03
1l-x , x<1
f(x):[ }
2x+3 ; x>=1
f(-4)=5, ,f(-1)=2, ,f(1)=5 ,f(3)=9, ,f(4)=11
Ans04
1 ; x< -2
fix)={ x+3 ,; -2<=x<1
-2x-3 x>=1
f(-3)=1, ,f(-2)=1, ,f(0)=3, ,f(1)=-5 ,f(4)=-11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-6 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA WL O N R I JO 12715794
PiecewiseFunction Answers for No.12971

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -18 | -16 | -14 | =12 | =10 | -8 | -6 | -4 | 6 | 5 | 4 | 3 | 2 1| o -1 =21 -3 -4 -5 -6
AnsO2 : f(x)| -2 | -1 | -1 | -1 | -1 -1 | -1 1] -1 | -1/ 0 | 1| 21 -3 1 -5 =71 -9 -11 | -13 | =15 | -17 | -19
Ans03
x—2 ;ox< 2
f(x):[ }
2x-3 ; x> 2
f(-4)=-6, ,f(-1)=-3, ,f(0)=-2, ,f(2)=N4, ,f(3)=-9
Ans04
—x+2 x< -3
fix)=] 3 ; 3<=x<3
2x-3 x>=3
f('4):6a ’f('3):3’ 7f(1):3’ 7f(2):3’ af(3):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |
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DGRV R NCIVIVEND’'0:9:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0:6:0.0 ¢ | [ YA W 1T O N 010 J0 12355704
PiecewiseFunction Answers for No.13023

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 3| 4 | -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans0O2 : f(x)| 23 | 21| 19| 17 | 15 | 13 | 11 | 9 | 7 4 | 4 | 4 | 5 | 6 | 7 8 | 911 10 | 11 | 12 | 13 |
Ans03
2x-2 ; x<2
f(x){
2-x ; x> 2
f('3):'8> ,f(-2)2-6, ’f('l):'4> ’f(l)zo, ,f(2):NA
Ans04
0 N x<=-]
f(x)={-2x-2 ; -1 <x<3
x+2 N x> 3
f(-3)=0, ,f(-1)=0, ,f(0)=-2, ,f(2)=-6, ,f(3)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 | 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2] DNE | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:6:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | (YA W LT O N R 010 J0 12155 04
PiecewiseFunction Answers for No.13033

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 f(x)| -19 | -17 | =15 | -13 | -11 | -9 | =7 | -5 | 11 0 | -1 | -2 | -3 | -4 | -5 | -6 | -7 -8 | -9 | -10 | -11
AnsO02 : f(x)| -15 | -13 | -1 | -9 | -7 -5| -3} -1 | -2 | -3| -4 -5 -5| -5 -5| -5 -5 -5 -5 =51 =59
Ans03
2x-3 ; x<1
f(x){
3+x ; x> 1
f(-4)=5, ,f(-2)=1, ,f0)=-3, ,f(1)=N4, ,f(3)=0
Ans04
2x+3 x< -1
f(x)= 3 ;o -l <x<=1
x+2 N x> 1
f(-4)=11, ,f(-3)=9, ,f(-1)=N4, ,f(1)=3, ,f(4)=6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
5 | 2 2 2] 2 | Continuous
9 | 4 | 1 1 1 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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DGRV R NCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0:6:0.0 ¢ | [ YA L WL O N R0 I Jo I D ¢
PiecewiseFunction Answers for No.13197

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 6 | 5 4 | 3 2 1 0 | -1 | -2 | -4 | -2 | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18
AnsO2 : f(x)| -2 | -2 | -2 | -2 | =21 -2 | =21 =21 -2 | NA | -4 5 | 6 | 7 8 | 9| 10| 11 | 12 | 13 | 14 |
Ans03
x+3 ; x<=-I
f(x):[ }
2x-2 ; x> -1
f(-3)=0, ,f(-2)=1, ,f(-1)=2, ,f(2)=-6, ,f(3)=-8
Ans04
2x+2 x < -1
fix)={ 1-x ,; -1 <x<2
-1 N x>=2
f(-2)=-2, ,f(-1)=N4, ,f(0)=1, ,f(2)=-1, ,f(3)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-7 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXKXKXKXKXXXKXKXKXXKXKXKKKXKXKXKXKKKXKXKXKK XK X KKK KKK XKXK KKK XXX KKK KKK XXX KKK KX KX KKK KX KX KKK KXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L W LT O N 010 J0 124 :) ¢
PiecewiseFunction Answers for No.13907

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 8 | 71 6 | 5 4 | 3 2 1 0 | -1 | -2 | -3 | 7 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
Ans02 : f(x)| 2 | 2 | 2 2 | 2 2 | 2 2 | 2 2| 1| 0| -1 1] NA | 7 9 | 11| 13 | 15| 17 | 19 |
Ans03
x+1 cox< -2
f(x):[ }
2x-3 ; x> -2
f(-2)=N4, ,f(-1)=-1, ,f(0)=-3, ,f(2)=-7, ,f(3)=-9
Ans04
3+x x< -2
f(x)= 0 ; 2<=x<1
2x+2 ; x>=1
f(-3)=-6, ,f(-2)=0, ,f(-1)=0, ,f(1)=0, ,f(2)=-2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-6 | 2 2 2] 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
1] 4| 1 1 1 | Discontinuous |
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DGRV ERRNCIVIVEND’0:0:0:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA W LT O N 010 J0 12°) ¢
PiecewiseFunction Answers for No.13991

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 24 | 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | NA | 6 | 71 8 | 9 | 10 | 11 | 12 |
Ans02 : f(x)| -1 -1 -1 | -1 -1} -1 -1 -1 | NA|] -3 | =51 =71 =9 | NA| 6 | 7 8 | 9 | 10 | 11 | 12 |
Ans03
—1-x ; x<-I
f(X)=[
2x+2 ; x>=-1
f(-3)=2, ,f(-2)=1, ,f(-1)=0, ,f(1)=4 ,f(3)=8
Ans04
2x-2 x<=-3
fix)=] 3—x , -3 <x<=1
2 N x> 1
f(-4)=-10, ,f(-3)=-8, ,f(-1)=4, ,f(1)=2, ,f(4)=2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
=7 | 2 | 2 | 2 | 2 | Continuous
3 1 5 | 3 3] 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L WL O N R0 Je Ic10) ¢
PiecewiseFunction Answers for No.14005

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | -4 | -6 | -3 -2 | -1 | 0 | 1] 2| 3 4 ] 5 |
Ans02 : f(x)| -14 | -13 | -12 | =11 | =10 | -9 | =8 | =7 | 6 | 4 | 2 | ol =21 -4 1 -4 -4 -4 -4 -4 -4 -4 |
Ans03
2x+3 ; x<=-2
f(x){
3+x ; x> -2
f(-4)=11, ,f(-2)=7, ,f(0)=-3, ,f(2)=-1, ,f(3)=0
Ans04
2x+2 x<=-2
fix)={ -2 ; -2 <x<3
x+2 x>=3
f(-2)=-2, ,f(-)=-2, ,f(1)=-2, ,f(2)=-2, ,f(3)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
8 | 4 | 4 | 2] DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
12 | 3 3 3 3 | Continuous
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DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0:6:0.0 ¢ | [ YA L WV TO N R I JO ICH D704
PiecewiseFunction Answers for No.14157

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | NA | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | -5 | -6 | -7 |
Ans02 : f(x)| -21 | -19 | -17 | =15 | -13 | -1 | -9 | -7 | -5 -5 =51 =5 o - -2 -3 -41 -5 -6 =71 -89
Ans03
2x-3 ; x<=2
f(x){
3+x ; x> 2
f(-4)=5, ,f(-3)=3, ,f(-2)=1, ,f(0)=-3, ,f(2)=-7
Ans04
2x+3 x<=-3
fix)={ 3—-x ,; -3 <x<2
1 N x> 2
f('3):'3> ,f(0)23, ,f(l):2, ,f(2):NA, >f(3):1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
=7 | 2 2 | 2 | 2 | Continuous
2 4 | 2 | 4 | DNE | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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